NATIONAL ASSEMBLY
WRITTEN REPLY
QUESTION 633
DATE OF PUBLICATION OF INTERNAL QUESTION PAPER: 17/03/2017
INTERNAL QUESTION PAPER: 10/2017
633.	Mr E J Marais (DA) to ask the Minister of Basic Education:
(a) What was the calculated impact of the inclusion of the marks of progressed pupils on the overall results of the 2016 National Senior Certificate examinations, (b) how was the specified impact calculated and (c) was the impact calculated before or after the mark standardisation process? 						NW691E
RESPONSE

(a) The impact of the progressed learners on the overall results of the 2016 National Senior Certificate examination, is 3.7%. 

(b) The overall pass rate with the progressed learners included is 72.5% and the overall pass rate with the progressed learners excluded is 76.2%. The difference between these two figures is 3.7%

(c) The impact was calculated after the standardisation process.
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